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X is distributed as a zero modified Poisson distribution with A =2 and p,' =0.4.

Calculate €(2) .

Solution:

E[X]-E[x"2]

2)=—" F(2)

py =0.4

A
et -1

p =p/(1-p')=

My _| 2 _
}(1— py') = {ez J(O.G) ~0.18782

M _ T M :_ A? My 2° _
p, =p,(L-py) _2!(8’1—1)}(1 Py ) [—2!(82—1)}(0.6) 0.18782

1-F(2)=1-p — p — p¥ =1-0.4-0.18782—0.18782 = 0.22436

E[X]=E[X7]0- p!*) =[ }(1— p%{i} (06)=1.38782

1-e™* 1-e7?
E[X ~2]1=0(py") +1(p" ) +2(1— py' — p*)
= (0)(0.4) + (1)(0.18782) + (2)(L— 0.4 —0.18782) =1.01218

_E[X]-E[x"2] 1.38782-1.01218

~1.6743
1-F(2) 0.22436




2.

X is distributed as a Pareto distribution with parameters of # and « . You are also given

that E[X]=2000 and Var[X]=8,000,000.

Calculate TVaR,(X).

Solution:
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(@-1)*(a-2)

‘ >

E[X]=2000= Var[X]=8,000,000 =

H

a—

ab? 6?
(@D (@-2) (a-17

= (2000)? { } 8,000,000
a—2

==> @ =2=>q=200-4=—>a=4
a—2
E[x]=2000=—2— -2 . g - 6000
a-1 3
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TVaR,, = 7, + 24209
' ' a-1

a 4
) =0.9=—> o.1:[ﬂj ==> 77,, = 4669.68

F(7,,) =09 ==>1-
(7o) ( 6000+ 7,,

+ Ty,

_ -1a _ _1/a
TVaR,q =7y + w = 4669.68 + 6000(1'1 0.9)
o — _

=8226




